
Rzędne niwelety

Rzędne istniejące

Różnice rzędnych

Elementy niwelety

Elementy trasy

Odległości

Kilometraż

KM= 0+102m

Rzędna= 137.47m

R= 300m

L= 14.35m

Z= 0.09m

KM= 0+275m

Rzędna= 135.45m

R= 880m

L= 16.78m

Z= 0.04m

KM= 0+310m

Rzędna= 135.93m

R= 400m

L= 10.04m

Z= 0.03m

KM= 0+338m

Rzędna= 135.59m

R= 600m

L= 12.73m

Z= 0.03m

KM= 0+017m

Rzędna= 138.33m

R= 500m

L= 7.16m

Z= 0.01m

KM= 0+149m

Rzędna= 134.72m

R= 400m

L= 21.55m

Z= 0.15m

KM= 0+240m

Rzędna= 134.34m

R= 800m

L= 29.21m

Z= 0.13m

KM= 0+384m

Rzędna= 134.08m

R= 500m

L= 17.99m

Z= 0.08m

KM= 0+479m

Rzędna= 134.36m

R= 2000m

L= 20.99m

Z= 0.03m

gaz Ø300

gaz Ø150


